=1

RBPEHEBSHNBERSEINRIRIES — b [(2%-BREAR)

[(HRREEE: FNISEE]

2 HEOHFEHEDIKR

AEERT mromEit

1 AFEOHE

t* % ARUEAEN EHRREE FERLS . N
(i) (EBHATHEHILAZH1177—3) REE  EER FEk X
TR ik mue  EHSE gf‘_%’“)ﬁ%*"’% B (R RIERE)
BUORE BUEM (ERAA ERL)

5 #HHEZEA REEEEFBVFEREERI

7TE BEMRREXEIEEREES

BREVI—IDEEERIT. MRXEE

EOEMNRBEERIS

165 IEREXICIOEHBREBNER

25%F NI EEANICRAT

DFE

REREFOBNFEER-BRT SO, RRICRELIERELIIETSHEIC
HTAXBERUMBLYLTVRIREIVWETICLICIYARARREDRRICFEST S,

HEEARSE

EEFA

= & K =R

EEFA

BEARMGEEAR

FERFEFHVFOBERICRIMREDR T
HRMERERED. ABLIOIETDHFEFDHEEN

BERPTREE TS E0HER

FRREMABS  H29:29[E1(326 A), H30:27[E(340.AN), RIT:27[E] (361 .A)
R2:34[8] (334 A) . R3:51[@(290A\)

BIREE H28: 9444, H29: 8044, H30: 10444 . H31(RJT) 9644
R2:90%%. R3: 6314

H16F6 R | HEEKXFGHEKE
M RERRERRELHEME]

H2051 R | SREEARTGHEE
MEAEDKH TEXRDOMRILERSD)

H25% 28 |REEKRFEHHKET
=S 10 B
ERk25%F4 R DNEEEANDIBIT]

H19E4R HEMNLGEREHEWNFEROHEEZRS-0.
(M EFEEER% Mt REERESE
EEHFFOI IO7—EDEH

H25F4 8 | At EEAABIT

H31E4R | REFRIAEILICHEEEL. ELNTRERE N,
RERBLOEHHROERILERET HEEDIC,
RFRIAPRSEDBEICIYEHENRIL

m g X

%

55 EOH o FirHieE - HIB%E (F) - KB (%)
FABFE(H)| 2,000,200,000M $§§éfﬂ) 500,000,000 X (%) 24.9% -Eﬁnﬁ 5{&H 24.9%
-EEGREES SEMA 24.9% [Fh
AN BRI Y ) BUAE S K OV U35 Fn 34 Y H) AT
: E H30 H31(R1) R2 R3
OB 0 0
S SHLIRBE 0 0 0 0
R F E g 13 13 13 13
>5REBA 3 3 3 3
OB 3 3 3 4
B B # SHERBE 0 0 0 0
[ 1 0 1 0
EEREE 3 3 3 4
EEHBEF 14 13 14 13
BB A GEEHRER 0 0 0 0

FIRFTHFASEEORILT, () WIF2HEE

(BEAE:FH. %)

BREFEFORTERR

AEEOBEELEREEZRDMERILERSH. EE

ZERICIIFHRURENOMAARFZRHBEDORERFDER

TR B D EARR S

HRAFRE (EM) (CESE REMICECTARM(H144~)

EEERR

- ER23FEAENPEERER (EEAER)

SIEMEBXODERIAVDETH D, HHEARITOVT, a—ILFENMERANESN -GS E, BREADUYBZTED N,
CER6FEMBHEMAREFEERICRIZHAET(REEZESEHRR) HEFEFGL
FRFEEEERBERVERFDORIICEIIIARE(RABDEEEFES) HEFHRELGL

- EHOFEEERBRUEETHORRICEHIILARE (RABRREFEERR) BEFEELL
-HH2EEEERBRUEXRFDOKEICETIIARE (RASACEETER) RREZOEERHNIIEHNCACOERREEHFHICHT

IR [#REUNEE (A) 31,147 (31,168) HeEE 2,196 (1,080)
g,; BEEHR B 32,237 (35,806) o e 3 2,196 (1,080)
% |[BEERE AW-6B) A 1,090 (A4p38) ™ | EER 0 ©)
B E:E A 1,087 (A 4625) & |Rft& 0 (0)
B PNEBERILE 101.6 (91.4) | IERREAEE L 38 506  (506) _ RES 0 (0)
% BELE 96.6 (87.1)|iRENLLER 814,3453 ©00)| = |Zsn 903 (903)
ﬁ A& E 273 (24.4)|EE b3 193.1  (1930)| A |Eft& 0 (0)
E BERLE 9.5 (8.6) B E RHEE R 978 (917)] . HIEE 0 (0)
B | EEXHEBUE A 100 (20.7) fE AR 0.1 0.2) BARBESF 0 ©
"E BEIEELE 71 (35) R EABE

= %&%ﬁﬁ% 2196  (1,080)

R (NPOE L) LD AR

Hlo REFAEGL

HADREF
(E A &R (R ECEAH)
(ER%E]

Ron-ERR TOMRMGEREROFHEL
BEENDEHTHINZABEDEST

(SRDOEYBAAHRE]

BIREREORELZTVDD, BXOMEMNLGRITICE DS,

AHERTREBRIIFFTHAM, FFHITATFLYI538FAEMELT
WB, EXVRORFLORENMBICBEL, ERAKBICRESEXRNE
ERBHES MBMICREEEDORELICRYBTRENH S,




B2

(BABDIRR] (A5 -HFFAENR)

Hixg ABHAEZARFREFRBVFERES

@ EREIEREAHES (B4 FM)
TERE (SHITE)E SH2EE SHISEE
BREBROA
BEUNEE (A) 28,175 31,168 31,147
SHERBEERL 26,053 26,009 25,969
SHLZBMEE 0 0 0
SHEFINE 903 4,003 2,923
SHLZEHEE 1,080 1,080 2,196
SHLZMEEHMSE 0 0 0
_ SEZMEHENE 1,080 1,080 2,196
s 5t ZEHATA B & 0 0 0
i BEEA B 29,671 35,806 32,237
Bk SLEXE 26,672 32,738 32,738
Bt SHENBREXE 26,672 32,738 32,738
= SHIAHEF Y 4,796 7,240 7,240
B StLEEY 3,000 3,067 3067
g 5t 13 B 5 0 0 0
f.? SHIERFH 1,481 1,511 1,569
" R (825) 58 (C)=(A)-(B) A 1,497 A 4638 A 1,090
BEMEBDE
#EE N IREE (D) 24 13 3
BENER E) 0 0 0
FE S MEREEE (F)=(D)-(E) 24 13 3
— R IE R BA EE IR (2 B8 28) BB (G)=(C)H(F) A 1473 A 4,625 A 1,087
—RIEKMEHEZES H) 48,768 47,295 42,670
— AR IERBAE IR m (D=(G)+(H) 47,295 42,670 41,583
| RIEBEF 0 0 0
ww [SLEnEEADS 0 0 0
W IE 56 ZEHh A A EF A& 0 0 0
g)"* L HA 5 TE IE R BA EE B RAE (J) 1,189 1,189 1,189
MM I EHMERERS K 983,559 984,747 985,936
E e ERMERFEES L=U)K) 984,747 985,936 987,125
L HAIE Bk BA EE R IRAE (M)=(G)+(J) A 284 A 3436 102
ERBEHEES (N) 1,032,326 1,032,042 1,028,606
IERBAERIRIE S (0)=(M)+(N) 1,032,042 1,028,606 1,028,708
2 EfExtEx
TRSIE(SHTE) E SH2EE SHSEE
RBEE 51,177 47,091 44,903
B 49,194 45,108 39,784
BEEE 1,985,589 1,985,239 1,986,535
& EKRBARE 1,983,396 1,984,692 1,985,988
55t ih 0 0 0
S5t % E A MRS 1,683,197 1,684,492 1,685,788
HEME 0 0 0
E 5t BB 55| L& E 0 0 0
SHEMERG | L EE 0 0 0
TOMDEEEE 2,193 547 547
EESE 2,036,766 2,032,330 2,031,438
RBEE 0 0 6
SHEHEAE 0 0 0
8| Bexuz 0 0 6
BEEEE 1,004,724 1,003,724 1,002,724
15 SHEHBEAS 4,724 3,724 2,724
SHERBHRESI S 0 0 0
8EEE 1,004,724 1,003,724 1,002,730
Y6 7E IE R B 984,747 985,936 987,125
SHEEKRMEANDIE HEE 984,747 985,936 987,125
ﬁ SEBERE~DT L 0 0 0
Bt — AR IEBRBABE 47,295 42,670 41,583
= SHERMEADITYEE 0 0 0
SHEREEE~NDT L 0 0 0
IECRBAESE 1,032,042 1,028,606 1,028,708
BERVIEKRMESET 2,036,766 2,032,330 2,031,438




